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TUB-test chart TE57; threshold data Lingelbach (77)
tp=0,4s, 9 observers, 5 luminances, expotential A2−fit

input: w/rgb/cmyk −> w/rgb/cmyk−
output: no change

http://130.149.60.45/~farbmetrik/TE57/TE57L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/5
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TUB-test chart TE57; threshold data Lingelbach (77)
tp=0,4s, 9 observers, 5 luminances, expotential A2−fit

input: w/rgb/cmyk −> rgbd
output: no change

http://130.149.60.45/~farbmetrik/TE57/TE57L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/5
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TUB-test chart TE57; threshold data Lingelbach (77)
tp=0,4s, 9 observers, 5 luminances, expotential A2−fit

input: w/rgb/cmyk −> rgbd
output: no change

http://130.149.60.45/~farbmetrik/TE57/TE57L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/5
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TUB-test chart TE57; threshold data Lingelbach (77)
tp=0,4s, 9 observers, 5 luminances, expotential A2−fit

input: w/rgb/cmyk −> rgbd
output: no change
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